
 

Nachbarzahlen 11 

 
 
1. Ergänze die Nachbarzahlen. 
 
 

Vorgängerzehner       

Zahl 5 802 8 742 2 680 7 438 2 825 6 784 

Nachfolgerzehner       
 
 

Vorgängerhunderter       

Zahl 8 470 2 687 4 277 2 068 8 577 2 879 

Nachfolgerhunderter       
 
 

Vorgängertausender       

Zahl 6 874 8 428 4 867 2 809 7 874 1 722 

Nachfolgertausender       
 
 
 
2. Rechne mit verwandten Aufgaben. 
 
 
         20 +       70 = ________  28 +      72 = ________ 

       200 +    700 = ________  280 +    720 = ________ 

    2 000 + 7 000 = ________  2 800 + 7 200 = ________ 
 
 
 

34 +      27 = ________  28 +      45 = ________ 

340 +    270 = ________  280 +    450 = ________ 

3 400 + 2 700 = ________  2 800 + 4 500 = ________ 

 
 


